

CERTAIN ONE RELATOR CONJUGACY SEPARABLE GROUPS

GOANSU KIM

1. Introduction

A group G is said to be conjugacy separable (c.s.) if, whenever x and y are elements of G which are not conjugate, there is a finite homomorphic image of G in which the images of x, y are not conjugate. This concept is important to solve the conjugacy problem for finitely presented groups, since Mostowski [13] solved the conjugacy problem for finitely presented c.s. groups. For example, finitely generated (f.g.) nilpotent groups [2], free groups [14], polycyclic-by-finite groups [7], and free-by-finite groups [5] are c.s. On the other hand, Wehrfritz [15, 16] gave some soluble groups which are not c.s. Then Miller [12] constructed a generalized free product (g.f.p.) of free groups which is not c.s. However, Dyer [4] showed that the g.f.p. of free groups (or f.g. nilpotent groups) amalgamating a cyclic subgroup is c.s. In [1], Allenby and Tang showed that the groups $\langle a, b : (a^{-1}b^lab^m)^s \rangle$ is c.s. for $s > 1$. Then Fine and Rosenberger [6] proved that all Fuchsian groups are c.s.

Recently, Kim and McCarron [10] found a condition for the g.f.p. of groups to be residually p -finite. Using this, they [11] characterized all residually p -finite groups of the form $\langle a, b : a^{-\alpha}b^{\beta}a^{\alpha}b^{\lambda} \rangle$. Thus, we are confronted with the task of classifying those one relator groups that are c.s. In this paper, we give an elementary proof that the one relator group $\langle a, b : a^{-1}ba = b^{\delta} \rangle$ is c.s. for any δ (Theorem 2.3). Using this, we give examples of c.s. or not c.s. g.f.p. of groups amalgamating a cyclic subgroup (Example 2.4, 2.5), which are having the solvable conjugacy problem. The existence of such groups was pointed out by Dyer [4].

We shall use the following terminology and result:

$x \sim_G y$ (simply $x \sim y$) means that there exists $g \in G$ such that $x = g^{-1}yg$, and we use $x \not\sim_G y$ (simply $x \not\sim y$) if there is no $g \in G$ such that $x = g^{-1}yg$. We use $\langle X \rangle^G$ to denote the normal closure of X in G . $N \triangleleft_f G$ denotes N is a normal subgroup of finite index in G . If \overline{G} is a

homomorphic image of G , then we use \bar{x} to denote the image of $x \in G$ in \bar{G} . Finally, (n, m) denotes the greatest common divisor of n and m .

LEMMA 1.1. [11] Let $G = \langle a, b : a^{-1}ba = b^\delta \rangle$ and let $b_\ell = a^\ell b a^{-\ell}$ for $\ell \geq 0$. If $(\delta, k) = 1$ then $\langle b \rangle^G / \langle b_\ell^k \rangle^G$ is a cyclic group of order k for any $\ell \geq 0$. Thus $G / \langle b_\ell^k \rangle^G$ is finite-by-cyclic, hence it is c.s. [5].

2. Results

First we consider the following result on integers.

LEMMA 2.1. Let m, n, δ be integers such that $m \neq 0 \neq n$ and $|\delta| \geq 2$. If δ does not divide n and if $m \neq \delta^i n$ for any $i \geq 0$, then there exists an integer r such that $m \not\equiv \delta^i n \pmod{q}$ for all $i \geq 0$, where $q = \delta^{6r} - 1$.

proof. Case 1. $\delta \geq 2$.

Subcase 1. Consider $m > 0$ and $n < 0$. Choose an integer $r_0 \geq 3$ such that $0 < m, -n < \delta^{r_0+1}$. For each $r \geq r_0$, we can write

$$\begin{aligned} m &= m_r \delta^r + m_{r-1} \delta^{r-1} + \cdots + m_1 \delta + m_0 \text{ and} \\ -n &= n_r \delta^r + n_{r-1} \delta^{r-1} + \cdots + n_1 \delta + n_0, \end{aligned}$$

where $0 \leq m_i, n_i < \delta$. Then $n_0 \neq 0$. For $0 \leq i \leq 2r-1$, we have

$$\begin{aligned} 0 < m - \delta^i n &= n_r \delta^{r+i} + n_{r-1} \delta^{r+i-1} + \cdots + n_1 \delta^{i+1} + n_0 \delta^i + m \\ &\leq (\delta-1) \{ \delta^{3r-1} + \delta^{3r-2} + \cdots + \delta^{2r-1} + \delta^r + \cdots + 1 \} \\ &= \delta^{3r} - 1 - \delta^{r+1} (\delta^{r-2} - 1) < \delta^{3r} - 1. \end{aligned}$$

Thus, for $0 \leq i \leq 2r-1$, we have $0 < m - \delta^i n < \delta^{3r} - 1$. Now, we have

$$(2.1) \quad \begin{aligned} 0 < m - \delta^{2r+j} n &\equiv n_r \delta^j + \cdots + n_{r-j} \delta^0 + n_{r-j-1} \delta^{3r-1} + \\ &\quad \cdots + n_0 \delta^{2r+j} + m \pmod{q = \delta^{3r} - 1}, \end{aligned}$$

for $0 \leq j \leq r-1$. Then the right hand side of (2.1) is equal to

$$\begin{aligned} &n_{r-j-1} \delta^{3r-1} + \cdots + n_0 \delta^{2r+j} + m + n_r \delta^j + \cdots + n_{r-j} \delta^0 \\ &\leq n_{r-j-1} \delta^{3r-1} + \cdots + n_0 \delta^{2r+j} + (\delta^{r+1} - 1) + (\delta^{r+1} - 1) \\ &\leq (\delta-1) \delta^{3r-1} + (\delta-1) \delta^{3r-2} + \cdots + (\delta-1) \delta^{2r} + 2\delta^{r+1} - 2 \\ &= \delta^{3r} - \delta^{2r} + 2\delta^{r+1} - 2 < \delta^{3r} - 1. \end{aligned}$$

Thus, since $n_0 \neq 0$, $m - \delta^{2r+j}n \not\equiv 0 \pmod{q = \delta^{3r} - 1}$. Hence, $m \not\equiv \delta^i n \pmod{\delta^{3r} - 1}$ for all $i \geq 0$, where r is any integer $\geq r_0$.

Subcase 2. Consider $m > 0$ and $n > 0$. As before, we choose $r_0 \geq 3$ such that $0 \leq m, n < \delta^{r_0+1}$. For each $r \geq r_0$, we write $m = m_r \delta^r + \dots + m_1 \delta + m_0$ and $n = n_r \delta^r + \dots + n_1 \delta + n_0$, where $0 \leq m_i, n_i < \delta$. For $0 \leq i \leq 2r-1$, we have $-\delta^i n < m - \delta^i n < m$. Note that $\delta^i n \leq \delta^{3r} - \delta^{2r-1} < \delta^{3r} - 1$. Hence $m > m - \delta^i n > -(\delta^{3r} - 1)$. So $m - \delta^i n \not\equiv 0 \pmod{q = \delta^{3r} - 1}$, for $0 \leq i \leq 2r-1$. For $0 \leq j \leq r-1$, we have

$$(2.2) \quad \begin{aligned} m - \delta^{2r+j}n &\equiv -n_r \delta^j - \dots - n_{r-j} \delta^0 - n_{r-j-1} \delta^{3r-1} - \\ &\dots - n_0 \delta^{2r+j} + m \pmod{q = \delta^{3r} - 1}. \end{aligned}$$

Then the right hand side of (2.2) is greater than

$$\begin{aligned} &-n_r \delta^j - \dots - n_{r-j} \delta^0 - n_{r-j-1} \delta^{3r-1} - \dots - n_0 \delta^{2r+j} \\ &\geq -\{(\delta-1)\delta^{3r-1} + (\delta-1)\delta^{3r-2} + \dots + (\delta-1)\delta^{2r} + (\delta-1)\} \\ &= -(\delta^{3r} - \delta^{2r} + \delta - 1) > -(\delta^{3r} - 1). \end{aligned}$$

Now, since $n_0 \neq 0$, $m - \delta^{2r+j}n \not\equiv 0 \pmod{q = \delta^{3r} - 1}$ for $0 \leq j \leq r-1$. Hence, $m \not\equiv \delta^i n \pmod{\delta^{3r} - 1}$ for all $i \geq 0$, where r is any integer $\geq r_0$.

Subcase 3. $m < 0$ and $n > 0$. Since $-m > 0$ and $-n < 0$, by Subcase 1, there exists an integer r_0 such that $-m \not\equiv \delta^i(-n) \pmod{q}$ for all $i \geq 0$, where $q = \delta^{3r} - 1$ for any $r \geq r_0$. Hence $m \not\equiv \delta^i n \pmod{q}$ for all $i \geq 0$, where $q = \delta^{3r} - 1$ for any $r \geq r_0$.

Subcase 4. Consider $m < 0$ and $n < 0$. This case can be handled by Subcase 2 above.

Case 2. $\delta \leq -2$.

Let $\delta = -\delta_1$, where $\delta_1 \geq 2$. Since $m \not\equiv \delta^i n$ for any $i \geq 0$, we have $m \not\equiv (\delta_1^2)^i n$ and $-\delta_1 m \not\equiv (\delta_1^2)^i n$ for any $i \geq 0$. By Case 1, there exist integers r_1, r_2 such that, for any $i \geq 0$, $m \not\equiv (\delta_1^2)^i n \pmod{(\delta_1^2)^{3r} - 1}$ for any $r \geq r_1$ and $-\delta_1 m \not\equiv (\delta_1^2)^i n \pmod{(\delta_1^2)^{3r} - 1}$ for any $r \geq r_2$. It follows that, for any $i \geq 0$, $m \not\equiv \delta^i n \pmod{q}$, where $q = \delta^{6r_1 r_2} - 1$.

The next lemma will be useful to prove our main result.

LEMMA 2.2. $G = \langle a, b; a^{-1}ba = b^\delta \rangle$, where $|\delta| \geq 2$.

(a) $b^n \sim_G b^m$ if, and only if, $n = \delta^i m$ or $m = \delta^i n$ for some $i \geq 0$.

(b) For $s > 0$, $b^m a^s \sim_G b^n a^s$ if, and only if, $m \equiv \delta^i n \pmod{|\delta^s - 1|}$ for some $i \geq 0$.

proof. For (a), we note that $b^n \sim_G b^m$ iff $b^n = a^{-i} b_t^{-j} b^m b_t^j a^i$ for some i, j and some $t \geq 0$, since $\langle b \rangle^G = \langle b_0, b_1, \dots; b_i = b_{i+1}^\delta \rangle$ is locally cyclic, and since $G = \langle b \rangle^G \langle a \rangle$. Then $b^n \sim_G b^m$ iff $b^n = a^{-i} b^m a^i$ iff $b^n = b^{\delta^i m}$ or $b^m = b^{\delta^i n}$, for some $i \geq 0$. Since $|b| = \infty$, we have the result (a).

(b): (\Leftarrow) Let $m = \delta^i n + \lambda(1 - \delta^s)$. Then $a^i b^{\delta^s \lambda} (b^m a^s) b^{-\delta^s \lambda} a^{-i} = a^i b^{\delta^s \lambda} b^m b_s^{-\delta^s \lambda} a^s a^{-i} = a^i b^{\delta^s \lambda - \lambda + m} a^{-i} a^s = a^i b^{\delta^i n} a^{-i} a^s = b^n a^s$.

(\Rightarrow) Suppose $b^m a^s \sim_G b^n a^s$. Then $b^m a^s = a^{-t} b_k^{-\lambda} (b^n a^s) b_k^\lambda a^t = a^{-t} b_k^{-\lambda} b^n b_{k+s}^\lambda a^s a^t = a^{-t} b_{k+s}^{-\delta^s \lambda + \delta^{k+s} n + \lambda} a^s a^t$ for some $k \geq 0$ and some t, λ . Thus $b^m a^s = b_{k+s}^{\delta^t (\delta^{k+s} n + (1 - \delta^s) \lambda)} a^s$ or $b^{\delta^t m} a^s = b_{k+s}^{\delta^{k+s} n + (1 - \delta^s) \lambda} a^s$ for $t \geq 0$. Since $b^m = b_\ell^{\delta^t m}$ and $|b_\ell| = \infty$ for any $\ell \geq 0$, we have $\delta^{k+s} m = \delta^t (\delta^{k+s} n + (1 - \delta^s) \lambda)$ or $\delta^{k+s+t} m = \delta^{k+s} n + (1 - \delta^s) \lambda$ for some $t \geq 0$. In any case, using $\delta^s \equiv 1 \pmod{|\delta^s - 1|}$, we have $m \equiv \delta^i n \pmod{|\delta^s - 1|}$ for some $i \geq 0$.

Now we are ready to prove the main result.

THEOREM 2.3. The group $G = \langle a, b : a^{-1} b a = b^\delta \rangle$ is c.s. for any integer δ .

proof. If $\delta = 0, 1$ then G is free abelian, hence it is clearly c.s. For $\delta = -1$, G has nontrivial center, hence it is also c.s. [4]. Thus it suffices to consider the case for $|\delta| \geq 2$. Let $x \not\sim_G y$. Since $G = \langle b \rangle^G \langle a \rangle$, and since $\langle b \rangle^G$ is locally cyclic, we may write $x = b_l^n a^s$ and $y = b_l^m a^t$ for some n, m, s, t and some $l \geq 0$. If $s \neq t$, then $x\pi \not\sim y\pi$, where $\pi : G \rightarrow G/\langle b \rangle^G$ is a natural homomorphism. Since $G\pi$ is c.s., we can find $\bar{N} \triangleleft_f G\pi$ such that $x\pi\bar{N} \not\sim y\pi\bar{N}$ in $G\pi/\bar{N}$. Let $N = \pi^{-1}(\bar{N})$. Then clearly $N \triangleleft_f G$ and $xN \not\sim yN$ in G/N . So, from now, we consider $s = t$. Moreover, since $b_l^n a^s \sim b^n a^s$ for any $l \geq 0$, we may assume $x = b^n a^s$ and $y = b^m a^s$, where δ does not divide n and m .

Case 1. $s = 0$. By Lemma 2.2, we have $n \neq \delta^i m$ and $m \neq \delta^i n$ for $i \geq 0$. Then, by Lemma 2.1, there exists an even integer r such that $n \not\equiv \delta^i m \pmod{\delta^r - 1}$ for any $i \geq 0$. Let $q = \delta^r - 1$, then $(\delta, q) = 1$. In $\bar{G} = G/\langle b^q \rangle^G$, we have $\bar{x} = \bar{b}^n \not\sim \bar{b}^m = \bar{y}$. Since \bar{G} is c.s. by Lemma 1.1, there exists $\bar{N} \triangleleft_f \bar{G}$ such that $\bar{x}\bar{N} \not\sim \bar{y}\bar{N}$ in \bar{G}/\bar{N} . Let N

be the preimage of \bar{N} in G . Then $N \triangleleft_f G$ and $xN \not\sim yN$ in G/N as required.

Case 2. $s > 0$. Note that if $k = \lambda(1 - \delta^s) + k'$, where $0 \leq k' < |\delta^s - 1|$, then $b^{-\delta^s \lambda} (b^{k'} a^s) b^{\delta^s \lambda} = b^{-\delta^s \lambda} b^{k'} b_s^{\delta^s \lambda} a^s = b^{k' + \lambda(1 - \delta^s)} a^s = b^k a^s$, hence $b^{k'} a^s \sim b^k a^s$. Thus we may assume that $0 \leq n, m < |\delta^s - 1|$. Now, since $b^n a^s \not\sim b^m a^s$, by Lemma 2.2, we have $m \not\equiv \delta^i n \pmod{|\delta^s - 1|}$ for any $i \geq 0$. Let $q = |\delta^s - 1|$, then $(\delta, q) = 1$. In $\bar{G} = G / \langle b^q \rangle^G$, we have $\bar{x} \not\sim \bar{y}$, and \bar{G} is c.s. by Lemma 1.1. Hence, as in Case 1, we can find $N \triangleleft_f G$ and $xN \not\sim yN$ in G/N .

Case 3. $s < 0$. Let $s = -s'$. Then $x \not\sim y$ iff $x^{-1} \not\sim y^{-1}$. Now $x^{-1} = a^{s'} b^{-n} \sim b^{-n} a^{s'}$ and $y^{-1} \sim b^{-m} a^{s'}$, where $s' > 0$. Thus this case can be handled as in Case 2. This completes the proof.

Miler [12] constructed a g.f.p. of free groups amalgamating a f.g. subgroup which has not the solvable conjugacy problem. Then Dyer [4] noted that there exists a g.f.p. which has the solvable conjugacy problem but is not c.s. The following example may be compared with this fact. We shall use $A *_H B$ to denote the g.f.p. of A and B amalgamating the subgroup H .

EXAMPLE 2.4. The group $\langle a, b : a^{-1}ba = b^2 \rangle *_{\langle b \rangle} \langle c, b : c^{-1}bc = c^2 \rangle$ is not residually finite [8], hence it is not c.s. But we can solve the conjugacy problem for this group by [3].

EXAMPLE 2.5. The group $\langle a, b : a^{-1}ba = b^\delta \rangle *_{\langle a \rangle} \langle a, c, : a^{-1}ca = c^\delta \rangle$ is c.s. by [9] for any δ .

References

- [1] R. B. J. T. Allenby and C. Y. Tang, *Conjugacy separability of certain 1-relator groups with torsion*, J. Algebra **103**(2) (1986), 619-637.
- [2] N. Blackburn, *Conjugacy in nilpotent groups*, Proc. Amer. Math. Soc. **16** (1965), 143-148.
- [3] C. R. J. Clapham, *The conjugacy problem for a free product with amalgamation*, Arch. Math. **22** (1971), 358-362.
- [4] J. L. Dyer, *Separating conjugates in amalgamated free products and HNN extensions*, J. Austral. Math. Soc. Ser. A **29**(1) (1980), 35-51.
- [5] J. L. Dyer, *Separating conjugates in free-by-finite groups*, J. London Math. Soc. (2) **20**(2) (1979), 215-221.
- [6] B. Fine and G. Rosenberger, *Conjugacy separability of Fuchsian groups and related questions*, Contemporary Mathematics **109** (1990), 11-18.

- [7] E. Formanek, *Conjugate separability in polycyclic groups*, J. Algebra **42** (1976), 1-10.
- [8] G. Higman, *A finitely related group with an isomorphic proper factor group*, J. London Math. Soc. **26** (1951), 59-61.
- [9] G. Kim, *Conjugacy separability of certain free product amalgamating retracts*, manuscript (1991).
- [10] G. Kim and J. McCarron, *On amalgamated free products of residually p -finite groups*, J. Algebra (to appear).
- [11] G. Kim and J. McCarron, *Some residually p -finite one relator groups*, J. Algebra (to appear).
- [12] C. F. Miller III, *On group-theoretic decision problems and their classification*, Ann. of Math. Studies Vol. 68, Princeton University Press, Princeton, 1971.
- [13] A. W. Mostowski, *On the decidability of some problems in special classes of groups*, Fund. Math. **59** (1966), 123-135.
- [14] P. F. Stebe, *A residual property of certain groups*, Proc. Amer. Math. Soc. **26** (1970), 37-42.
- [15] B. A. F. Wehrfritz, *Another example of a soluble group that is not conjugacy separable*, J. London Math. Soc.(2) **14** (1976), 381-382.
- [16] B. A. F. Wehrfritz, *Two examples of soluble groups that are not conjugacy separable*, J. London Math. Soc.(2), **7** (1973), 312-316.

Department of Mathematics,
Kangnung National University,
Kangnung, 210-702, Korea